—CUI2T0 SLOPING

PRODUCTION BOOSTER SHELF

#9526 SHELF
SUPPORT ANGLES

(2 PER UNIT)

1/4-20 x 1/2
BOLTS & NUTS
(2 PER ANGLE)

HARDWARE FOR ANCHORING TO BENCH TOPS

1/4-20 x 1” TRUSS HEAD BOLTS (4)
1/4” FLAT WASHERS (4)

1/4-20 HEX NUTS (4)

ANY WOOD TOP BENCH — 1/4 x 1” HEX WASHER HEAD SCREWS (4)
NOTE — DRILL 3/16 DIA. PILOT HOLES (4)
3/4” DEEP IN WOOD TOPS.

ANY STEEL TOP BENCH

INTERMEDIATE SHELVES

#6160 — 56"
#6056 — 65 9/16”
#6162 — 68”

5/16—18 x 3/4
BOLTS & NUTS
(4 PER SHELF)

UPRIGHT ASSEMBLIES
(2 PER UNIT)
#5214 — 14" HIGH
#5224 — 24" HIGH
#5236 — 36" HIGH

NOTE — SHELVES ARE ADJUSTABLE VERTICALLY, ON 3/4” CENTERS.

COPYRIGHT 1989 BY EQUIPTO AURORA, IL.

(SEE OPPOSITE SIDE FOR HORIZONTAL SHELF INSTALLATION)

DRAWING No.

#42960B



